L 39vd

-$ -$ 0582°0$ (0582°0% -$ G20C20$| 05820¢% 0s820% |0s8z0$|0L2L 08| GELz0$ | 05820% | 05820$ 05820 $ 'S'N VLOS3INNIN
060%'0 $ -$ 0607’08 |o60v'0$[0L8e0$[0LBE0S| 0L8E0DS 0L8e’0$ |oLee'0$|060v'0$| 060 0$ | 0L8€0$ | 06040 $ 018€0$% ‘'S'n NVYOIHOIN

-$ -$ 00¥2'0$ |00¥2°0 $|00¥20$|00v2'0$| 00v20$ 00¥20$ |090L'0$|090L'0$| 090L'0$ | 00O¥20$ | 00¥20 $ 00¥2°0 $ 'S'n SL1LISNHOVSSVYIN

=% -$ Gv.€08 |Sp2€'0$(029€08]029c08]| 0/9€0¢ 0.9€0$ |0.9€0$|0/9€°0$| 0296°0$ | 029€0% | Sv.E0$ 0£9¢0 $ ‘SN ANVIAYVIN

-$ -$ 0ZLe0$ -$ -8 -$ 0/vL°0$ 086L°0% |8/0€'0$|082L'08) 06L20$ -$ 0ZL€0$ -$ ‘S'n ANIVIN

-$ -$ 0002'0$ (00020 ${0002°0$|{0002°0%| 00020% 0002’0 $ |000Z'0$|00020$| 09¥L'0$ | 00020$ | 0002°0$ 00020 $ ‘s’n VYNVISINO1

-3 -$ 020L'0$ [ozoL'0$|ovv00$|OvO0S| OPPO0 S 0v¥0'0$ |020L'0$|020L'0$| O¥¥0'0$ | OPPO'OS | 020L°0 $ 0v¥0°0 $ ‘sS'n BYDINg AMONLNIN

-$ -$ 09120$ |09L2°0%$(09v2°0¢$|09v2'0$| 09v2°0 % 09¥20$ |09L20%|09L20¢$| 09v20% | 09¥20¢% | 09120¢ 09%2°0$ ‘S'N AMONLNIN

-$ -$ 00920$ 00920 $|00¥20$|002L°0$| 00920 % 00¥2'0$ |00¥Z0$)|00920$| 00€20$ | 00¥20$ | 00920 $ 00¥20$ ‘S'n SYSNVYMA
00590 $ -$ 0662°0$ |0soe0 $|osoe0 $[00620%| 0s0€0$ 00620$ |ooleo$|osee0$| oooe0$ | 00620% | 05280 % 0S0€0 $ ‘S'n VMOI

-8 -$ -$ -8 -$ -$ -3 =% -$ -$ 006¥°0 $ -$ -$ -$ SN BYyoINS YNVIANI

-$ -$ 006¥'0$ [000€°0 $ [000€°0 $ [000E'0$| 000E0$ 000€0$ |006¥°0 $|006¥°0 $ -$ 000€0$ | 006¥0¢% 000€0$ ‘S'n VYNVIANI

-$ -$ 0v09'0$ |[0ves0$ |oveso$|oves0$| 0v2s0$ 0v2S'0$ |0e8y’0$|0¥09°0$| 00090% | 0¥250$ | 0v090$ 0¥25°0 $ ‘S'n SIONITTI
002€°0$ -$ 002e0$ |002E0$ -$ -$ -$ -$ 002€'0 $ [06VE'0$| 02620 $ -$ 002€0 $ -$ 'S'n OHVval

-$ -$ 0ele0$ |06220% 062204 |064208| 0622°0% 06.20$ |06.20%$]|06220$| 06220% | 06220% | 0€LE0$ 0622°0$ 'S'n YIOd039

-$ -$ L25€0$ -$ -$ -$ -$ -8 -$ -$ -$ 0vSE0S$ | Z25€0$ 0vSE0 $ SN vYadoid

-$ -$ 00220$ |002zZ'0$[00220¢$|00Z20%| 00€20$ 00€2’0$ |oozz'o$|00cz0$| 002Z20$ | 00e20$ | 00220 % 00€20$ ‘SN JHVYMVT13a

-$ -$ 0S9¥'0$ [0052°0 $ 00520 $[0052°0$| 00520 % 00520$ |0092'0$)|0092°0$| 00920% | 00520$ | 0S59¥°0$ 00520 $ ‘s'n 1NJILO3INNOD

-$ -$ 0502°0$ |[0022°0 $[0022°0$|0022°0$| 00220 % 002z0$ |oesl'0$foozi0$] oseL0$ | 00zZz0$ | 0S0Z0¢ 00220 $ ‘S'n 0avd0o109

-$ -$ 00920$ 00920 $ (00600 $[0060°0$| 006070 % 00600$ |/8800$|2L0L'0$| 00900 $ -$ 00920 $ -$ ‘S'n VINYO4ITVO

-$ -$ 06820 $ -$ 0S¥2'0$|0S¥20$| 0S¥20$ 0S¥2’'0$ |0050°0$|00500$| 059L°0$ | 0S¥20% | 05820 $ 0S¥20$ ‘S'n SYSNVAAVY

-$ -$ 00920 $ -$ 008L'0$[008L0% -$ -$ -$ -$ =% 008L'0$ | 00920 % 008L0$% ‘SN YNOZIYY

-$ -$ 0052°0$ |oove0 $|00v20$[00¥20$| 00¥Z 0% 00¥2'0$ |0080°0$|0080°0$| 00S520$ | 00¥20$ | 00520 $ 00¥20 $ ‘S'n YNVEV1Y

-8 -$ GLEY'0S$ |SLep0$|SLer0$|Sier 0S| SLevr0$ GLEY0 $ -$ -$ 68520% | SLEv'0$ | Slevo$ GLEY0$ SN NVYMIHOLYISVS

-$ -$ L18S0$ |118508|€2S508$|LI8S 0S| €2550% 11860 % -8 -$ -$ £2550$ 11860 $ £255°0 $ ‘SN 0393N0

-$ -$ -8 Z9L€'0$|G91€0$(802€08| 0L0€08$ 80LE0$ |195€°0$)9255°0 ¢ -$ 80L£0% | S51950% 80.£°0$ ‘S'N_ | ANVYTISI dvMA3 IONI™d

-$ -$ Ly’ 0$ |6227'0$ (62270 ¢ |622V0$ -$ 622v'0$ -$ -$ 262108 | 622¢08% | viLvO$ 6227’0 $ ‘S'n OIdVYLNO

-$ -$ 0EYy'0 $ -$ -3 -$ -$ -$ 0EV¥'0$ [0EVY' 0S| ¥LO2Z0S | 6SYY0$ [ 0P 0 S 6SYY0 $ ‘SN VILOOS VAON

-$ -$ -8 -$ -$ -$ -$ -$ -3 -$ G0620$ -$ 16290 $ 81090 $ ‘SN ANVIANNO4M3IN

-8 -$ G8l9°0$ [S8190$(58L90$ |65V 0S| S8L90% G8l9°0$ |5819'08|S8L90¢%) 226L°0% | 6S¥P0$ | S8L90S 6SvY'0 $ ‘SN ADIMSNNYHE M3N

-$ -$ 220v'0$ [Z20v'0$|220v°0$|2200° 08| L2000 % 120v'0$ |//820%|/2/820%) €9800% | 220¥08% | Z20v0$ 1200 $ ‘SN YEOLINVIN

-8 -$ 8G2.°0$ [8522°0$|0S¥L'0$[82.90%| ¥S2L0% 82.90¢% |/8L20%|S50€0$| 6¥5208 | 82290$ | 8522.0% 82/9°0$% ‘S'n YIgNNTOD HSILIYE

-8 -$ 0v.€0$ |op€0$[0v2e08|0vLE08]| OVZE0S 0v2£0$ -$ =8 ¥0.20% | ov2€0$ | Ov.E0S 0v/€0$ ‘SN Y1438V
uaboupAH |Aj011309]3 | |esalpoig SSY S8-IN §8-3 loueyiajy loueyig ONJ ON1 [ auedoid | joyosen 18salg auljosen

020¢ 13yeny 3is|

sajey Xel [8nd T¥NI4 0202 1auenp isi|
9/'0 - 8G1¢’| @yey abueyox3 epeued/ sn
(v.L4I) Juswaalby xe| |an4 [euoljeulaju]




¢ 39vd

dyd-zsajqe} asooya zaljewxe)/Bio eyl

SNOLLOIASI¥NC TV NO NOILYINYOANI ¥3HLO ANV ISNOH ONI¥YITO V14l IHL NO SILONNOOL LNIN¥ND I3S

00¥2°0 $ -$ 00¥2'0$ |00¥2'0 $|00¥2°0$ (0020 $ -$ -$ 0ovc0$|oovzo$) ooveo$ | oovzo$ | oovzo$ 0020 $ ‘S'n ONINOAM
-$ -8 062€0$ [062£°0$[062€°0$[{062€0%| 06280% 06z€0$ |0/¥20$(026L'0$| 09220% | 062€0% | 062€0 ¢ 062€0 $ SN NISNOOJSIM
-$ -$ 026€'08 |0/6e0$[0s5e'0¢8 (026808 02608 0.6¢€'0$ |o/€20$[0oesL08] ov8L0$ | 026608 | 02608 0.G€0 $ ‘S'n VINIDYHIA LSIM
-$ -$ 0v6¥'0$ |0¥6¥°0 $|0v6y 0 $ [0v6r'0 S| OvEY 0 $ 0¥6¥°0 $ -3 -$ -3 0v6¥'0$ | 0¥6¥0 ¢ 0v6¥°0 $ ‘S'n NOLONIHSYM
-$ -$ 08900¢% |080L°0¢$[og0L'0¢$]080L°0%( 080L0% 080L°0% |os0L'0$|oLzL'0${ 080L'0% | 080L'0$ | 08900 $ 080L°0$ ‘S'n BYyDInS VINIDNIA
-$ -$ 020c0$ ([0z9L'0$[029L'0${029L0¢%| 029L0% 0291'0$ |oz9l'0$foegl 0¢8] 0z9L0¢ | 0zoL'0$ | o0zoz0$ 0291L°0$ ‘S'n VINIOYHIA
-3 -8 -$ -$ -$ -$ =8 -8 -$ -$ -$ -$ 00L€0$ -$ ‘S'n LNOIWHIA
089108 -$ oLle0o$ |orieosforieog|oLieos]| oLLe0$ 0LLE'0S$ |089L'0$]089L°0% -$ 0LLEDS | OLLED S 0LLE0S SN HY.LNn
-$ -$ 0002°0$ [0002'0 ${0002°0 $|0002°0%| 000Z0$ 0002°0$ |00SL°0$]00SL°0$ -$ 00020$ | 000Z0$ 00020 $ ‘'S'n SYX3L
-$ -$ 00/2°0$ |0092°0 $[0092°0 $]0092°0%| 00920 $ 00920$ |oolz0$foorzo$| 0ozzo$ | oooz0$ | 00zz0% 00920 $ 'S'n J3SSINNTL
-$ -$ 00820% -$ -$ -$ -$ -$ -3 -$ -$ -$ 00820$% -$ SN VY.LOXva HLNOS
-$ -8 -$ -$ -$ -$ 00220$ 002z0$ |oozz'o$|oozz0$| 00220% | 00220$ | 00220 $ 00220 $ ‘S'n VYNITOYVYD HLNOS
-$ =% 00v€'0$ [00¥E'0$[00¥E0 $|00VED S| OOVED S 00¥€0$ =8 o0ove'0$| ooveE0$ | oovE0$ | o0ObEOD S 00¥€0 $ ‘S'n ANVYSI 3d0OHY
09/508% 2.100$ 0l¥20$ |olp2'0$[ozec0$|ocLy0$| 06820¢ 0v8€'0$ 109/6°0$|08¥9°0$| 0S2v'0$ | 092608 | OLYP20$ 09.5°0$% 'S'n VINVATASNNId
-$ -$ -$ -$ -$ -$ -$ -3 -$ -8 -3 -3 -3 -$ 'S'n NOO3HO
-$ -$ 006L'0$% |006L°0$(006L°0%|006L°0%]| 006L°0% 006L'0$ |006L°0$[006L'0%] 009, 0% | 006L'0% | 006L 0% 00610 $ ‘S'n YINOHYIXO
-$ -$ 00.¥'0$ [00/p°0$[058€°0$[058E°0$| 0S8€°0 % 058€°0$ |000L'0$|00°0$ | 002v'0$ | 058€0$ | 00/¥°0$ 068€0 $ ‘S'N OIHO
-$ -8 00€20$ -$ -$ -$ -$ -$ 00€2°0 $ -$ 00€20$ | oocz0$ | 00eC0$ 00€2°0 $ ‘S'n Y.LOMVA HLHYON
019€0$ -$ 0l9€0$ |oloe0$|0L9c0$|0Loe 0S| 0L920$ 0L9e'0$ |olocosforoc0$] oLoc0$ | oLoc0$ | oLoc0$ 0L9€0 $ ‘S'n VYNITOYVD HLHYON
-$ -$ -$ 090%°0 $ [090¥°0 $ -$ 090¥'0 $ 090¥°0 $ -$ -$ 0zez0$ | 090v0$ | S96€0$ 090¥'0 $ ‘S'n AHOA M3N
-$ -$ -8 -$ -3 -$ -$ -$ -$ -$ -$ -$ 00l20$ -$ ‘S'n OJIX3aW M3IN
-$ -$ 098v'0$ |ovLyO$|ovivO$[oviv0S| OpLy0$ oviv'0$ -$ -$ Geeeos | orty0o$ | 0s8v0 S orLy'0$ ‘S'n AISHIAr MAN
-$ -$ 02220$ -$ -$ -$ -$ -$ 0¢ez0$|oceeo$| ozzzo$ -$ 02220 $ -3 ‘S'n JHIHSdNVYH M3N
=S -$ 00£20$ |006L°0 $ -$ 00€20$| 00€20$ 00€z0$ |oolz0$|0022'0$| 0¥90°0$ | 00€20$ | 00220 % 00€2°0$ ‘S'n VYAVAIN
-$ -$ 0£620$ |0e62°0$[0e62°0 $|0c620%| 08620 0€62°0$ |0e620$[oc620$] 0e620¢ | 0c620¢% | 0c620 % 0£62°0$ ‘'S'n YXISYHE3IN
-$ -$ G¥62°0 $ -$ -$ -$ -$ =$ 00200 $ -$ 81600 $ -$ G¥62°0 $ -$ 'S'n VNVLINOW
-8 -$ 0021°0$% -$ 00.1'0$[{00/L°08 -$ 00£1'0$ |0050°0 ${o0s00$]| 002L0¢ [ 002L'0% [ 00ZL0¢ 00£10$% ‘SN IHNOSSIN
-$ -$ 008L°'0$ |008L°0%(008L°0$]008L'0$| 008L°0S 008L'0$ |08zz’0$[o08L'0¢$]| 002L08 | 008L'0% [ 008LOS 00810 § ‘S’ 1ddISSISSIN
uabolpAH |A101309(3 | |esalpolg \4 S8-IN §8-3 |oueyiaiN louey3ig ONJ ON1 [ auedoid | |oysen 19salg auljosen
0202 13yenp 3si

Sajey Xel |8nd T¥NI4 020¢ JaHenp is|
92°0-851€’| aey abueyox3 epeued; s n
(vL14d1) Juswaeaiby xe| |an4 [euoieulaiu|




